ORG10001A Udemabel - scene
Date: 2019.06.12  Subject:

Rev: 2023.06.19 Drawing no.:

Page nr.: 1/4 Scale:

Paper: A4 Drawing by:

5 7
°
Qopo®
Areal 7,5m?
Circumference 20,5m

View
ORG10001A_01, JR
Ingen

Jan Routh Sgrensen

Mounting

Copyright Elverdal A/S.

Elverdal




ORG10001A Udemabel - scene

Date: 2019.06.12  Subject: Assembly 1
Rev: 2023.06.19 Mou ntlng

: Drawing no.. ORG10001A_01, JR E I Ve rd a I
Page nr.: 2/4  Scale: Ingen Copyright Elverdal A/S.

Paper: A4 Drawing by:  Jan Routh Sgrensen

287

1 3 4)5)(2

Y
o Ea ];; (]

Qopo®

Areal 7,5m?
Circumference 20,5m




ORG10001A Udemabel - scene

Date: 2019.06.12  Subject: Plan .
Rev: 2023.06.19  Drawing no.. ORG10001A_01, JR M ou ntl ng E I Ve rd a I

Page nr.: 3/4  Scale: 1/50 Copyright Elverdal A/S.
Paper: A4 Drawing by:  Jan Routh Sgrensen
- 5980 .
A
R1
o -
Q =)
0| 0|
Tel N
2980
Y

o

Areal 7,5m?
Circumference 20,5m




ORG10001A Udemabel - scene

Date: 2019.06.12  Subject: BOM .
Rev: 2023.06.19  Drawing no.. ORG10001A_01, JR M ou ntl ng E I Ve rd a I

Page nr.: 4/4  Scale: Ingen Copyright Elverdal A/S.
Paper: A4 Drawing by:  Jan Routh Sgrensen
Udemsbel - scene Outdoor furniture - scene AuBenmobel - Szene
Antal/
Quantity/
Pos:Betegnelse: Name: Bezeichnung: Anzahl:  Artikel/ltem#
1 [Scene 1 Scene 1 Scene 1 1 ORG10001A
2 [Scene 2 Scene 2 Scene 2 1 ORG10001A
3 [M16 bolt M16 Bolt M16 Bolzen 6 [ ELV01160200
4 |M16 skive M16 Washer M16 Scheibe 6 | ELV95160030
5 [M16 Lasemgtrikmgtrik M16 Lock nut M16 Kontermutter 6 | ELV91160000
Monteringsvejledning Mounting instruction Installationsanleitung 1 ORG10001A

o

° 7
Qopo®
Areal 7,5m?
Circumference 20,5m






